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Exercise 1: (1 point) Work out:
a)lem (91, 98) =
b) hcf (64, 45) =

Exercise 2: (1 point) I've asked my gnomes to build a square pen for my four unicorns, and I need it to
be big enough so they can also keep the safety distance. Just in case. If | can count with a surface of

5184 m* , how many meters of wood will | need?

Exercise 3: (1 point) Work out:

5 i} 5
a) =51 = b) (E) = ) 77 = d) (=2) =

Exercise 4: (2.5 points) Work out the value of the following expressions:
a)(a’)2-a =
b) (27:2°):(27%-27") =
c) (Zf1 :bl):(b"2 -p"° ) =
d)(z-4_29)_ _—2_2—6)

e) 3+324+3° =

Exercise 5: (1.5 points) Work out the value of the following expressions:

- 3 -5
Xy~ x 14°-7
Yy

) < b

=

'4_x3_y-8 49-4 -4

Exercise 6: (1.5 points) Work out the value of the following expressions:
a) 5-2-25:(-5)-Q1-3)’ =
;
b) V29+7 :6—(\B1-+f64) —3%2° =

Exercise 7: (1.5 points) Work out:
a) 3/125 000 000 000 =

b) 7/235,314_ 7 _
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d) /3969 =
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